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24 Question:

A saturated, remolded clay soil has a water content of 32 percent, a liquid limit water con-
tent of 35 percent, a plastic limit water content of 20} percent, and an amount of clay sizes
(finer than 0.002 mm) of 17 percent. (a)What are the liquidity index and activity index of
this soil? (b)Is the sample likely to be soft or stiff? (¢) What is the activity index for this
soil and which clay minerals does it possess?

Answer:
a. The plasticity index (Equation 2.3) of this clayey soil is PI = 35 - 20 = 15, The ]|q- :
uidity index (Equation 24) is LT = (32 - 200/ (35 =200 = 12/ 15 = (1.8, ;
b. Because the liquidity index is near one, the sample will be soft.

¢. The activity index (Equation 2.5) is Al = 15 /(17 - 5) = 1.25. This indicates that
the dominant clay mineral is an illite, or that the clay is a mixture of several clay
minerals including kaclinite, illite, and montmorillonite.
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